a. What is the question (of the paper)?
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b. Why should we care about it?
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c. What is your (or the author’s) answer?
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d. How did you (or the author) get there?
A BOR T RTREL - B A SRR BE A B B BOR AT 28 5 - JRAM T DAL %2
[Head Start] 75 AR AN FHMZER - fA I —BORTE1965F AT > AL S
ARG > fiEAFR AR (county) Z FRIHEATHYIERINE AR — » T HANBR N H45 K= - #EFT ARG
WG EBERSE S > R AT AR N Z TR 2252 o S5 —J7 T » &5 E I NH AR 0B
FEHEFTARAEMIUF 75 & [Head Start | J5 RIAEEESHOMR K — AT A Z MK T —E A
fEiks (RKD) > fEFATALAL AT THead Start | M2 o



B - EBIBOR S e 4h AR Jr S 2 S R T i

Yyer = 6.+ & + Oy, + Z:bP + HeadStart Age, ¢ + €,
C: county

b:birth year index

0.: county of birth fixed effect

a,: year fixed effect

Oy(cp: State-by-birth-year fixed effect

Z'bp: county characteristics interacted with a linear trend in year of birth

HeadStart,: abinary variable equal to 1 if a child was born in a county that received a Head Start
grant before 1980

A gel’,s( o8 a set of dummy variables for a child’s “school age” at the time of Head Start’s launch,

I(T* — b = a) where a=—15 to 30 (or T7¥= 1965 and b = 1980 to T* = 1980 and b =1950) and T*

is the year Head Start began in county ¢
¢: point estimates of interest



